String Audition Excerpts for OSU Symphony, Fall semester 2025
Start by introducing yourself, state where you are from, what your major is and what
year at OSU, then play 90 seconds of any solo of your choice followed by the listed
excerpts, in order.

Notes:

Schumann mov't 1: practice repeated notes as single 8ths, slowly for intonation.

CELLO / BASS: if any of the bowings in the Schumann are backward, do what works.

Sample recordings:
Brahms Double Schumann 4 Tchaikovsky 6

CELLO

Brahms Double Concerto
Movt 1: letter A thru letter D // five bars after letter G thru letter H
Movt 3: letter A thru bar 49

Schumann 4
Movt 1: Lebhaft to 15t ending // letter C to bar 141
Movt 2: solo, pick-up to bar 401
Mov’t 4: Schneller to bar 867

Tchaikovsky 6
Movt 2: bars 1—25
Movt 3: bars 40—65


https://youtu.be/zFiHsNpdjaM?si=ZRPEcjL0DbJ2H6Uk&t=8
https://youtu.be/S0Jsc-QU6A0?si=YmSB6K5GEWkT_yi2
https://youtu.be/uKsNyuiyRIM?si=vMxlTM8pIhYVS2M4&t=1609
https://orchestraexcerpts.com/tchaikovsky-6-cello-excerpt/

Brahms Double Concerto

letter A thru letter D

Movt 1:
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Brahms Double Concerto
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Movt 1: five bars after letter G thru letter H
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Brahms Double Concerto
Movt 3: letter A thr_u bar 49
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Schumann 4
Movt 1: Lebhaft to 1% ending

Schumann 4, movt 1
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Schumann 4
Movt 1: letter C to bar 141
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Schumann 4
Movt 2: solo, pick-up to bar 401 )
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Schumann 4
Mov't 4: Schneller to bar 867
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Tchaikovsky 6
Movt 2: bars 1—25

Tchaik 6 movt 2
8 VIOLONCELL
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Tchaikovsky 6

65
Tchaik 6 movt 3. Take top line of divisi.

Movt 3: bars 40
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